APPENDIX 11 A

DIFFERENCES IN THE OPINIONS OF THE RESPONDENTS REGARDUING

ADEQUACY OF PREPARATION FOR THE VOCATION OF RESOURCES

ACCORDING TO PRESOMAL FACTORS

Ca) ACADEMIC ACHIEVEMENT N = 536
ACADEMIC OPINIONS
ACHIEVEMENT
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAYOURABLE
f % f % f %
Excellent N = 80 11 22. 00 39 78. 00 o 0. 00
Good N = 250 80O £0.00 191 76. 40 g 3.60
Average N = 236 46 19. 48 187 79. 24 3 1.287
X% Calculated = 4.432 with df =4 is not significant
Coefficient of contingency = 0.08
Cb) SOCIO-ECONOMIC STATUS N = 536
SOCIO~-ECONOMIC OPINIONS
STATUS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % f %
High N = 383 74 20. 86 270 76. 48 g =2.58
Medium N = 145 28 189.31 118 80. 00 1 0.69
Low N = 38 8 13.186 31 81.58 2 5. 286

¥* Calculated = 4.887 with df = 4 is not significant

Coefficient of contingency = 0.0
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APPENDIX 11 B

DIFFERENCES IN THE OPINIONS OF THE RESPONDENTS
ADEQUACY OF PREPARATION FOR THE VOCATION

REGARDI NG
OF

RESEARCHER ACCORDING TO INSTITUTIONAL FACTORS

Cad HUMAN RESOURCES N = 536
HUMAN RESOURCES OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
% f % f %
Adequate N = 288 858 22.78 189 74.12 8 4.31
Not adequate = 281 49 17. 44 228 81.14 4 1.42
X? Calculated = 4.487 with df = 2 is not significant
Coefficient of contingency = 0.089
Cd> TPYE OF DEPARTMENT N = 536
TYPE OF OPINIONS
. DEPARTMENT
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
£ % f % f %
Combined N = 224| 66 21.18° 239 79. 46 5 2.23
Separate N = 312} 41 21.185 239 786. 60 7 2. 24

x? Calculated = O.6868 with dff =2 is not significant
Coefficient of contingency = 0.03
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Cc) SYSTEM OF EDUCATION

N = 8536

SYSTEM OF OPINIONS
EDUCATION
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
£ % f % f “
Semester N = 224 | 53 23. 66 168 75. 00 3 1.34
Annual N = 3i2] 54 17.31 249 79. 81 9 2.88

xz Calculated =

4.414 with df = 2 is

Coefficient of contingency = 0.09

APPENDIX 12 A

not significant

DIFFERENCES IN THE OPINIONS OF THE RESPONDENTS REGARDING
ADEQUACY OF PREPARATION FOR THE VYOCATION OF CHILD
' WELFARE OFFICER ACCORDING TO PERSONAL FACTORS

Ca) TYPE OF STUDY PROGRAMME N = 138
TYPE OF STUDY OPINIONS
PROGRAMME AT
B. Sc. LEVEL
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % f %
Specialized N = 33 g a7.a87 24 72.73 O 0. 00
General N = 105]| 43 40. 85 62 859. 05 o 0. 00
X? Calculated = 2.001 with df =1 is not significant

Coefficient of contingency = 0.11
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Cb)> ACADEMIC ACHIEVEMENT

N = 138
ACADEMIC OPINIONS
ACHIEVEMENT
FAVOQURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f b f % f %
Excellent N = @8 5] B85. 656 4 44. 44 (6] 0. 00
Good N = 60 26 43.33 34 56. 67 - 0. 00
Average N = 68 21 30. 43 48 69. 57 — 0. 00

Xz Calculated

=

3.884 with df

Coefficient of contingency = 0.18

=2 is not significant

APPENDIX 12 B

DIFFERENCES IN THE OPINIONS OF THE RESPONDENTS REGARDING ADEQUACY

OF PREPARATION FOR THE VOCATION OF CHILD WELFARE
OFFICER ACCORDING TO INSTITUTIONAL FACTORS

Cal) HUMAN RESOURCES

N = 138
HUMAN RESOURCES OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % i %
Adequate N = 52 17 32.69 35 67.31 0 0.00
Not adequate = 86 35 40. 70 81 59, 30 O 0.00

x? calculated
Coefficient of contingency =

= 0.884 with df
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=1 is not significant
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Cb) PHYSICAL RESOURCES

N = 138

PHYSICAL RESOURCES OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
£ % 3 % f *%
Adequate N = 17 o] 29. 41 i2 70. 89 O 0. 00
Not adequate N = 121} 47 38.84 74 651.16 o G. 00
X? Calculated = 0.565 with df = 1 is not significant
Coefficient of contingency = 0.06
Cc) INSTRUCTIONAL PROGRAMME N = 138
INSTRUCTIONAL OPINIONS
PROGRAMME
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % f %
Adequate N = 82§ 34 41.48 48 58. 84 0O 0. 00
Not adequate N = B8] 18 32.14 38 B7. 86 O G. 00
x® Calculated = 1.231 with df = 1 is not significant
Coefficient of contingency = 0.08
Cd> TYPE OF DEPARTMENT N = 138
TYPE OF DEPARTMENT OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f *% f *® f %
Combined N = 87 20 45, 07 39 B4.03 o 0.00
Separate N = 71 32 29. 85 47 70.18 0 0. 00
X? Calculated = 3.40 with df =1 is not significant

Coefficient of contingency = 0.185

820



Ce) SYSTEM OF EDUCATION N = 138

SYSTEM OF EDUCATION OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
£ % £ % £ %
Semester N = 38 17 47.22 19 52. 78 o 0. 00
Annual N =102 35 34.31 67 B5. 69 o 0.00
X® Calculated = 1.888 with df = 1 is not significant

Coefficient of contingency = 0.110

APPENDIX 12 C

DIFFERENCES IN THE OPINIONS OF THE CD RESPONDENTS REGARDING ADEQUACY
OF PREPARATION FOR THE VOCATION OF NURSERY SCHOOL TEACHER
ACCORDING TO PRESONAL FACTORS

Cad TYPE OF STUDY PROGRAMME N = 138

TYPE OF STUDY OPINIONS

PROGRAMME AT

B. Sc. LEVEL

FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
£ % £ % £ %

Specialization = 33| 15 45, 45 17 51.52 1 3.03
General N = 105] 58 53. 33 48 45.71 1 0.95
X® calculated = 1.230 with df =2 is not significant

Coefficient of contingency = 0.80
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Cb) ACADEMIC ACHIEVEMENT

N = 138

ACADEMIC OPINIONS
ACHILEVEMENT
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % £ %
Excellent N = @ (o] 66. 67 3 33.33 O .00
Good N = B0 35 53. 33 23 38.33 2 .33
Average N = B9 30 43. 48 39 56. 82 0 .00
Xx? Calculated = 7.051 with df =4 is not significant
Coefficient of contingency = 0.220
Cc) SOCIO~-ECONOMIC STATUS N = 138
SOCIO~ECONOCOMIC OPINIONS
STATUS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % £ %
High N = o2 52 56. 52 39 42. 39 1 1.08
Medi um N = 37 18 40.54 21 58,76 1 2.70
Low N = g 4 44, 44 5 B5. 566 O 0. 00
X? Calculated = 3.318 with df =4 is not significant

Coefficient of contingency = 0.183

522



Cd> OVERALL MODERNITY N = 138

OVERALL MODERNITY OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % f F4
Modern N = @5 50 52. 63 44 48. 32 1 1.08
Conservative = 43 21 48.84 21 48. 84 1 2. 33
X% Calculated = 0.454 with df =2 is not signifiéant

Coefficient of contingency = 0.080

APPENDIX 12 D

DIFFERENCES IN THE OPINIONS OF THE CD RESPONDENTS REGARDING ADEQUACY
OF PREPARATION FOR THE VOCATION OF NURSERY SCHOOL
TEACHER ACCORDING TO INSTITUTIONAL FACTORS

Cad HUMAN RESOURCES N = 138
HUMAN RESOURCES OPINIONS
FAYOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
f % f % f %
Adequate N = 82 a3 44.23 a7 51,92 a 3.85
Not adequate = 886 48 B5. 81 38 44.19 0 0.00
X? Calculated = 4.B565 with df =2 is not significant

Coefficient of contingency = 0.17
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Cb) PHYSICAL RESOURCES N = 138
PHYSI CAL. RESOURCES OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAYOURABLE
% T % f %
Adequate N = 17 7 41.18 10 58. 82 O 0. 00
Not adequate N = 121} 64 52, 89 85 45. 485 2 1.85
X? Calculated = 1.244 with df = 2 is not significant
Coefficient of contingency = 0.080
Ced SYSTEM OF EDUCATION N = 138

SYSTEM OF EDUCATION OPINIONS
FAVOURABLE SOMEWHAT NOT FAVOURABLE
FAVOURABLE
£ % £ % £ %
Semester N = 36 e3 63. 89 13 36.11 0 0. 00
Annual N =102 4g 47.08 52 50. 98 2 1.96
X® Calculated = 3.420 with df = 2 is not signifieant

Coefficient of contingency = 0.180

¥ 524



